H & 0l & AHS B Ml A

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

AR

15,749,887
5,836
6,194,575
1,780,444
7,769,032

19,573,341

oA

3,272,760
1,793,575

228,819
1,250,366

3,982,290

AT709,530

Mo A

2,808,549
1,793,575
228,819
786,155

3,390,7%

ADBB2,247

EUNGE

67,200
26,880
40,320

168,000

100,800

M

67,200
26,880
40,320

67,200

M H

67,200
67,200
26,880
40,320

67,200

M

50,400
20,160
30,240

84,000

233,600

M

50,400
20,160
30,240

50,400

MO

50,400
50,400
20,160
30,240

50,400

41,760

46,080

24,320

41,760

46,080

24,320

41,760
41,760

46,080

4,320

Moo

800,000
500,000
100,000
200,000

420,000

380,000

307 212t01d

&)

800,000
500,000

420,000

380,000
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A RPN =)
B D8 21 U ok
SRl DEAY (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 100,000
s 200,000
02 2IZHB A E £ 800,000 0 800,000
O &5 Esads SAHLAMY 800,000
= 500,000
< 100,000
[Ea 200,000
CHEF L Rl XT3 AHY 40,000 20,000 20,000
306 £= 40,000 20,000 20,000
01 9= 40,000 20,000 20,000
O 24U WL SAHAAHEH X2 A 40,000
FHEAANEY Sty K2 AE 19,800 19,800
306 £ 19,800 19,800
01 Ed= 19,800 19,800
O HYESAE SEatHE N2 A 19,800
NEHE HNICHES THIIXIALS 1,250,000 1,929,300 679,300
[ 1,000,000
Ea 250,000
307 glztol & 1,250,000 0 1,250,000
s 1,000,000
= 250,000
02 2B YA E X 1,250,000 0 1,250,000
O 18y dHUS WIIXAE 1,250,000
= 1,000,000
Ea 250,000
NLHE X238 (2BI12X) 429,969 471,3% N41,387
[ 293,575
= 68,197
[Ea 68,197
307 el2to| & 429,969 471,356 A41,387
[ 293,575
== 68,197
= 68,197
05 2IHRIE S 429,969 471,3% AN41,387
O MYHH XIE29(=HIEX) 429,969
= 293,575
[ 68,197
T 68,197
MHE XZ2S(ZHEX) 41,420 56,560 14,140
= 13,582
[Ea 27,838
307 el2to| & 41,420 55,560 14,140
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A RPN =)
M D2 =3 Y oF
Sl =5eHd (crel ®2l)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 27,118 62,640 N35,522
18 SIS0t 4 A AS A 27,118 62,640 N35,522
O NHFTE HALTIML (FELIH0IS
ATl KAL) 27,118
NAFCE FELRCIAL (FELIH0ISEAA XI&A 14,381 48,000 A33,619
2)
308 AtXIEHMSOIE 14,381 48,000 A33,619
13 S [2S0He & EAS A 14,381 48,000 A33,619
O NSE=CE FHLR eI (FELcH
S XAY) 14,381
NSSs 18 =8 737,4% 690,076 47,420
eIy =X 737,4% 690,076 47,420
o1y R 737,4% 690,076 47,420
201 fer= 3| 13,820 14,400 A580
01 AtR2tc|HI 13,820 14,400 2580
O ogz giagolsl 29 +=¢
100,000 *7 & »23] 1,400
O ¥ Jtoles ¢ 2lE2 MA
7,800,000& *90/100 7,020
O 8 E2=5 M
6,000,000& *90/100 5,400
202 04| 1,876 1,876
01 =LHOHI 1,876 1,876
O 78 ME =0l
70,0003 x2H«12&+70/100 1,176
O BtAIZ 21183 HIXI0 =& 01l
50,000 x4 %53 %70/100 700
301 LEtE N = 721,000 673,000 48,000
02 AR 2HHLFS(HAAS, XNLHE) 100,000 0 100,000
O &Y - AMERR - LHEIR =4
HAMXS WE0IAH K&
1,000,000 1002 100,000
14 0Bt 2as 621,000 673,000 A52,000
O 2780t 288 Mot & F31 Alda 1,000
O T XA (HLXES) 120,000
O Z&xodl=s 500,000
303 Z&a=s 800 800
01 o= 800 800
O QIPEI} S4FM ot W KX TAD 800
sZEEH S8 1,150,717 1,072,979 77,738
= 132,500
o 1,018,217
Cs=g 243t 1,150,717 1,072,979 77,738
= 132,500
o 1,018,217
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M KletEe
N mEae =3
=R Esed 243 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HsAHEL XA 216,722 276,272 450
201 er23 | 3.870 3,620 250
01 At2teltl 2,070 1,620 450
O AsHEY A2l
2,300,000 +90/100 2,070
02 S3=gHl 1,800 2,000 A200
O X & dl (44) 1,800
202 04| 2,352 3,352 A1,000
01 =LHOLI 2,352 3,352 A1,000
O AsHEE 20l
70,0002 x4 %122 %70/100 2,352
301 EtE N = 240,500 240,500
11 dALEBIXNIE S 500 500
O HsHE 243 A
50,0003 x5 2 500
14 0Bt 2a3 240,000 240,000 0
O AsAHES XA 240,000
402 212 X201 & 30,000 28,800 1,200
01 QIIN A EZ (XM THR) 30,000 28,800 1,200
O #Hs2 212 HdoteA X 30,000
LAAHFAE 29 205,500 79,620 125,880
201 Ler23| 20,500 79,620 A59,120
01 At2teltl 12,000 75,000 263,000
O s =8 &4 SRl 12,000
02 S3=gHl 8,500 4,620 3,880
O SAAHAFAIE Ald=2 =2t 8,500
401 AIEHIZ SR 0HYI 30,000 0 30,000
01 Al&HI 30,000 0 30,000
O =22 & AMES SA 30,000
402 QI+ X201 & 80,000 0 80,000
01 QIZEXHE2 AL 2 (KM ) 80,000 0 80,000
O A=l ¥ 28(R1E 2l2gd) 80,000
406 J|EHAH=01H 75,000 0 75,000
01 JIetAt=01d 75,000 0 75,000
O A= =8 24 SXNESS 75,000
;f'é—i—ﬂ% S agst N (HsAHE gdsh) (HetArd 265,000 181,000 84,000
< 132,500
= 132,500
307 elztol & 265,000 181,000 84,000
= 132,500
= 132,500
02 2B HAIAE & 265,000 181,000 84,000
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A RPN =)
N mEae =3
=R Esed 243 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O AsHE 243 NIAE = d& 265,000
= 132,500
= 132,500
HEY sHFEUANANH =29 103,498 72,807 30,691
101 21A4H| 10,098 9,852 246
04 JIZtN2Z2 XS+ 10,098 9,852 246
O MR8 sHEN2EH & HSHE
HAEGIRA 22|(0I22)
78,8802 x 1+ 12042 7,573
O MBS SUHANAME L As7HE
HAEGH?A sFdd & NEHY
78,8803 x4 x2 2 +43] 2,525
201 er23| 23,400 22,955 445
01 At2teltl 5,400 5,000 400
O HME5d s XddH & AsHE
HAEGIRA 22| 450,000 12& 5,400
02 S3=gHl 18,000 17,955 45
O MRS sHENZLH & HSHE
HAEGIRA 29 1,500,000& «12& 18,000
307 elztol & 70,000 40,000 30,000
02 2B A HE L 70,000 40,000 30,000
O HFE sHEAXNJLAH 43 A 70,000
SL(0HS/AIR]) ZREAIY 42,197 43,551 A1,35%4
101 @124H| 11,359 11,083 276
MU IIRINZZE2NSES 11,359 11,083 276
O s B2 ol
78,8802 x4 A x4 L +QIH B 11,359
201 et 3| 18,898 20,068 A1,170
01 At22t2l] 17,530 18,700 AT1,170
O %eg =4 & UM, e M S 10,530
O &g 28 e 7,000
2 5234l 1,368 1,368 0
O S AE2S(JIIg, |RAE+ S)
456,000 *39H 2 1,368
206 M=l 5,940 6,400 A460
01 M=4l 5,940 6,400 A460
O RIIE HIE ¥ 250|172 7Y
2,200,000 *37H2~*90/100 5,940
301 EtE NS 6,000 6,000
14 IIEt2 8= 6,000 6,000
S =22 2X3 20,0002 x300H 6,000
HASAHEXNZHEH =2 157,800 157,800
201 fer23| 37,800 37,800
01 AtR2t2|HI 10,800 10,800
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A RPN =)
3N sEEH &4
gel: Es=g 243 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O AsAHAEXAHEH 22
1,000, 0002 * 12290/ 100 10,800
02 S3=gHl 27,000 0 27,000
O AsHEXZHE ANE2S SA2e]
2,500,000 122 +90/100 27,000
307 212+01& 90,000 90,000
02 LB HAHE L 90,000 90,000
O AsHE XA 90,000
401 Al HIZL 201 30,000 30,000
01 A&t 30,000 30,000
O ASAHENRHE AES 22TA 30,000
S0l 0IHHE A5sY 29 100,000 00,000
201 Zer2 ] 6,000 6,000
® 2=2%| 6,000 6,000
O Dieigs Aass 29
500,000& * 122 6,000
301 22N = 4,800 4,800
14 JIEt2 8= 4,800 4,800
O lldd=s dessd 28 S-S
120,000 42| 103 4,800
401 Al HIZ S 0HbI 89,200 89,200
01 Al&H| 89,200 89,200
O 0= desd =4
22,300,000 x4= 89,200
OIS SHES A 167,180 123,800 43,380
= 10,000
== 65,630
[Ea 91,550
001 243t 167,180 123,800 43,380
= 10,000
= 65,630
o 91,550
0201 |8(8X) 20,000 50,000 30,000
[ 10,000
= 3,000
Ea 7,000
307 gl2to| & 10,000 0 10,000
[ 5,000
= 1,500
= 3,500
02 2B YAIAE & 10,000 0 10,000
O 02718 s4dA 10,000
= 5,000
< 1,500
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M TetEe
M NSSSHEHEAM
tel: NYSsSHEL S (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
02 S22l 1,800 5,000 A3,200
O X+ & dl () 1,800
202 OH| 3,528 3,052 476
01 2L AL 3,528 3,052 476
O XNESSHE E30
70,0002 x6Z *12&+70/100 3,528
301 2 &= 1,000 6,000 A5,000
11 HAIMHIXI R 3 1,000 0 1,000
O i=3sH =8 UHERZD 7= 2E3
250,000 & *42] 1,000
307 212t01d 127,176 116,280 10,8%
02 QI HAANGEE X 127,176 116,280 10,8%
O ZFARE K& 31,794,000& x4 127,176
OHIE SSH A& At 114,600 126,364 A11,764
201 L= 2,200 2,200 0
01 AF22t2ltl 2,200 2,200 0
O OHIE ZSH s ¥ =eI0o3tdi0l
220,000 *10=2] 2,200
206 M=4l 5,000 5,000
01 M=4l 5,000 5,000
O OHIIE ZSH w=s ¥ =CI03tdI0|
500,000& *10=] 5,000
301 LeEN= 57,400 57,400
11 SEAAHIXIRS 7,000 7,000
O OHIHE SSH &&dus & =20t
350,000& *20=] 7,000
14 J|EtE2 8 S 50,400 50,400 0
O OHIE SSH T2 ZAtl
60,000& *702/ 122 50,400
307 212told 50,000 50,000
02 QI HAANEE X 50,000 50,000
O OHIHE SSH gsX# 50,000
mHAgel Xl At 40,000 50,000 10,000
402 2I2FX=01 & 40,000 50,000 10,000
01 RIENSA S E X (XM THR) 40,000 50,000 /10,000
O MYLelX =4 A
20,000,000 %24 2~ 40,000
OISS4SAE(EX) 38,000 38,000 0
307 212t01™ 38,000 38,000
02 QIHHAANSEE X 38,000 38,000
O =& S¥ZY (012543 AlY) 38,000
ANESsH nFE 843 At 42,500 42,000 500
301 LeENZ 2,500 2,000 500
11 SEAAHIXIRAS 2,500 2,000 500
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SN NISES D
33 NEEssSHESA
tel: NYSsSHEL S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O SSHM wsgol3 2F¥A+g
20,0003 x25 2 +53] 2,500
307 gl2to| & 40,000 40,000
02 2B YA AR A 40,000 40,000
O NgssH isgs NI 40,000
32alits 54 7,800 7,400 400
201 2= 6,600 5,600 1,000
01 At22t2l] 1,000 0 1,000
O =230t s4X2
500,000 294 2 1,000
° BZ2ZH| 5,600 5,600 0
O Z=si02 SHOIX RXL4H
2,800,000 +27H 2= 5,600
301 EtE2 NS 1,200 1,800 A600
11 #AIAHIXIE S 1,200 1,800 A600
O Z=230E Us & AL Z4
150, 0002 x2E *2JH 2:x23] 1,200
AL T2l SE(EX) 47,854 46,018 1,836
= 14,476
= 33,378
307 elztol & 47,854 46,018 1,836
= 14,476
Ea 33,378
02 2B YA R E A 47,854 46,018 1,836
O Z230e =232kt X 47,84
= 14,476
o 33,378
MAMOS SHSIIA(DIZEA) 5,000 20,000 15,000
< 1,500
= 3,500
307 elztol & 5,000 20,000 A15,000
= 1,500
= 3,500
02 2B YAIHE & 5,000 20,000 15,000
O dA40IS SN (272 SSH &8
X&) 5,000
= 1,500
o 3,500
SENESSMUASNA(MISSSHAIENE=XH) (A 45,000 44,000 1,000
EAt)
= 22,500
s 22,500
307 glztol & 5,000 0 5,000
= 2,500
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AL AREHEL e
Se N=SENEE (et
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 4,936
=S 888
s 2,073
307 @I2to| & 7,897 8,555 \658
= 4,936
= 888
Ea 2,073
02 2B YA HE A 7,897 8,555 AB58
O sENMEzsd0s 28x 7,897
= 4,936
= 888
= 2,073
HEitE clHusAIRA 2,880 2,880 0
= 900
= 324
= 1,656
307 elztol & 2,880 2,880 0
= 900
< 324
= 1,656
02 LB HAHE L 2,880 2,880 0
O sZEMNERE0E MR 2EZs) 2,880
= 900
== 324
[Ea 1,656
SENSEF A0S =2 FKE A 6,000 6,000 0
= 1,800
= 4,200
307 elztol & 6.000 6,000 0
= 1,800
Ea 4,200
02 2B YAIHE A 6,000 6,000 0
O sEMEF0ts &&d EJZCI)OE)YOOO%*SDH_{ 6000
== 1,800
o 4,200
HU0E SdA ALY 20,000 25,000 /5,000
= 12,000
= 8,000
307 elzto| & 20,000 25,000 A5,000
= 12,000
Ea 8,000
02 2B YA R E A 20,000 25,000 /5,000
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SN NISES D
33 NEEssSHESA
=R NSsSHEds EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O ddits SAHAAE 20,000
= 12,000
= 8,000
OS2 SHAYUEH 2 (HEAY) 170,000 170,000 0
=S 85,000
s 85,000
307 21201 & 170,000 170,000 0
< 85,000
[Ea 85,000
05 2ItRIE = 170,000 170,000 0
O t=SSH N2dH 2¢ 170,000
& 85,000
= 85,000
ST 4= MY 200,000 0 200,000
= 100,000
o 100,000
402 2I2FX=01 & 200,000 0 200,000
s 100,000
s 100,000
02 RIENEASEZ(0IETHR) 200,000 0 200,000
O sZE2& 288 HAL 200,000
[ 100,000
Ea 100,000
Y 243t 1,448,623 1,627,802 A179,179
= 438,070
[Ea 1,010,553
AN 243 A 30,384 39,784 29,400
201 eer23y| 19,800 27,100 7,300
01 AtR2t2lHI 9,800 12,100 A2,300
O HE™Y Azrts =7
300,000 *102]+90/100 2,700
O 3H8H 82 = 400,000 52 2,000
O 4 & J& oA
50,0002 +60% 3,000
O HUFM jos o
70,0003 * 15 #22 2,100
02 s3=gHl 10,000 15,000 25,000
O ZFEgdd 2erlE2ss R B+ 10,000
202 04l 1,764 1,764
01 =LHolb 1,764 1,764
O Bazuy ST
70,0002 +32 %122 %70/100 1,764
301 LEetE N = 8,820 10,920 /2,100
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SN NISES D
33 NGssHESA
ol UM 243 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 dALEEIXIZE S 2,520 2,520 0
O 34 &8 0|8 2¢8 |Ads
50,0008 15|40 2,000
O 34 33 0|18 28 S A= 520
14 0Bt 2a3 6,300 8,400 22,100
O = HHO|R (RALe)
70,0002 302 +32] 6,300
HEHEZ2 2 271,183 268,538 2,645
101 @124H| 62,905 59,658 3,247
M JIZtHZ22 S 2 62,906 59,658 3,247
O &4 HEsH G (HE22) 62,905
-l 28 78,8803 x3EHx22 2«0 46,855
-RERL-Y 78,8802 x3& x4 2+ 8,520
-AXt=E 78,8803 x3H 0 2,130
—“2Es 200,000 x3H 9 5,400
201 er=23| 53,118 52,920 198
01 AtR2te|Hl 45,198 45,000 198
O BH HHB 29
25,110,000 294 2A+90/100 45,198
02 s3=gHl 7,920 7,920 0
O &4 HES2 888=
330,000 « 12«20 2 7,920
206 M=l 7,200 8,000 A800
01 MHZH| 7,200 8,000 2800
O Y HE32 2214 M=
8,000,000& *90/100 7,200
301 EetE2 NS 12,960 12,960
14 JIEt2as 12,960 12,960
O HE HED2 T2 2
60,0002 *02| x2J4 % 123 12,960
307 elztol & 135,000 135,000
05 2IZtAE = 135,000 135,000
O Y HES2H 4 eiAES 135,000
FE40otR*A X4 100,000 129,600 229,600
201 Ler=23 | 100,000 129,600 /29,600
01 At2teltl 100,000 129,600 A29,600
O B4 #0524 ARZY U 29
(2x=, 53, HI3) 100,000
U0 2835 70,000 49,000 21,000
301 EtE NS 37,000 17,000 20,000
14 0Bt 2a s 37,000 17,000 20,000
O 4 2S¢ SH=E= L OlAHl X2 A
(FLIF0I0il4H) 32,000
O Y &Yetol=z WE(=UEHUL) 5,000
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